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Trisporic acid is a gex hormones produced by

(A)/ Mucor mucedo (B) Allomyees arbusculur
(Cy  Aspergillus nidulans (D) Penicillium notatum

ipanganGuNdls sifleon erenm ammiGoner @dled mba GlumciGang.

(A)  dlupdai Sy fAGLT (B) . maCaraminden syruen@an
(C) ssuuigiame BlHeasney (D) Guadfafwb @rre Gl b

Heterothalism in fungi was discovered by
{A)  Alexopolus (B) Anton debary

(Cw” AF. Blakeslee (D) Alsxander Fleming

erenauller Gam i Grrgmallen (@n euenswmean 2 Laib) sewr(Hibly seul
(A) amﬁ@&nﬁuwmm ; (B) e afl g Gufl

(C)  erer SennéGlasuad (D) =Gassnard LLHembuim

Which of the following is used as biocontrol agent?
(A) Rhizobium {B)’Trichnderma

(C)  Fusarium (D) Candida

Sipasan Lpenemenala eng 2uili sHOurems Geudubhdng?
(A)  epCsmSuns : - (B) genyCanGlmor

(C)  wenflub (D) CaemgLm
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4, Algae biofertilizers are
~ (A)  Freeliving '_ (B) Bymbiotic
(C)  Parasitic o (D Both (A} and (B)

Ehedersladmhs Guniu@l urdl e di o ghedt ererg

(A}  FEBSrons ump emiguwigl (B) sl (Hul pepudd aumipdesmig g
() g Gemen . (D) (&) opmib (B)- |
5. . The most primitive group of plants that form embryos are
(4) Algae _ (B) Fungi

{C) F_erné : {IVMDSSES

siflgiors (pgaitienar STeUTE Sald) g 2 MEUNGUS)
AR B Lees
(C Quiaf D)  wre Genrusar

6. Sporophyte of fern produces | : _
(&)  Pollen grains : : {B/Spnres
(C)  Seeds _ : {D) Eggs

Hugatuiien aoGumanram (REat o Huskd Qe

(A) LaIhs sEETHET (B)  euFuniser
) aﬁlmgéﬁ . : (D)  qaplenimer
q. | _ Equisf_:tilm antherozoids are
(A)  Uniflagellate | @B Multiflagellate
{C) Biflagellate S () Non flagellate

rEsmell L SgcT o dem oy bECqTHmi(Ras

Ay  am .smsuﬂm_gg @-B;ITSU'JJTI_.GH‘JG‘U (B)  ue smsslay Hderersney

©) . B sawsfong Qsmer e (1B amaSew oimpmal -
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10.

Selaginella differs from moss in having
U\J well developed vascular tissue
(B) swimming antherozoids

{(C) an independent gametophyte
(D) archegﬂ-nia

Beng QarenBararsra dewngideandan, wrev arenm sran sl mbs Copu@fmg.

(A) pong aaméfliua_bS era@EOnT SHED
(B) fissmugu siGrmaaml@sst

(C) pallssamenio aumips CallGLmenu (Haer
(D) eyradGanefluib

Vascular cryptogams are
(A) Algae

(B) Funm

(C) Brvophytes

{Iv Pteridophvtes

aunau@anit AROGriabadr eranueme
(A) meosrssan

B)  yemsss

(C)  SenpGuirenui (R

(D) QUG _reou Heer

Pteridophytes are also called

(A) Cryptogams

(P, Vascular cryptogams

(C)y Amphibians of plant kingdom
(D) Phaenerogams

QLAG renul Hadr @eueunm enphailHEngT?
(A)  EAfCGLrCabsa

(B) amsganrt AALCLr Cabadr

(C)  prauprmidugdo i flo anpeilses

(D) QueanCGrnGanea

=]
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11.  Which is wrongly matched?

{A} Pinua monophylia C—_ aingle ncedle
(B} Pinus sylvestris — two needles
{C) Pinus roxburghii —_ three ncedles
('D/ Pinus wallichiana —  four needles

Feupnes GuNSEeE SaNH g S5ab

{4) eusen ArGamaysr —_ S0 sardl [Hlane

(B) s Séeusio’ fleay — @rex{ safluimasen
{C) e prsaeund — apangy saflullan s
a» | MU al;dmﬂﬂmnmrr —  preng cafhbiepamsdr

12.  The seed disperaal of pinua is carried out by
(A)  water ' : (Ey wind

(C} Dbats _ (D) birds

| e gralpgdlen eitengae argen ppard ureyfpg?

A) ERé ppawns (B} arhflear apaeons

(C)  Ceueraums apainrs (D) upecusdr ppators

13. In pinus stem, the resin canals oceur in the region of
{A}/ cortex (B) epidermal region
(¢y pith ' (D) vascular bundle

souersi—@ia Arfler srdumiser gamger sruu@Sule aramiLGEns

(&)  uped ugdulio | B)  LnsCand LeSé

) SRFusdSe (D), cundugnt spapds)
LABO/19 - 6 | |



14.

16.

Ginger is not a root. It is a stem because
(A) It has pungent taste

{EV [t has nodes and internodes

(C) It stores food material

() Itis not green in colour

@esd Gauflavaur sem(D alblaafld

(A)  smpioran seoau UanenL s

(B) &gy winh sgyedia g s sranuLBAng
(C)  o.ewey Callsg) enaddlps

(D) wéemes BlodSd smaont Qupabdmea

One of the following statement is not true with reference to Benthem and Hookers
classification

(A) Very simple system

(B) This forms the basis for arrangement of plants in new herbarium
(C)  This eystem is accepted by entire British Empire

{M Monoceot 1s placed in the beginning

£Q¢-ﬁdﬂr. s pmsailes gang QuBsn alEsT almElUTY HED GubsTs

(A)  Wasab eretluigl

1:B} snaugrsa, By, QaprCuflusde Gae siUum s sifasuul Hararea
(C) G wésdr searanraub ghpE SararamiucL g

(D)  gmadldfaans graugmsa apgell Gl b Gupmpeere

A plant that elimbs over the support with the help of weak stem
(A)  Trailer (B) Tendril climber
{(v Twiner (D) Lianes

pellsn e Gaatian apaiid a1rSHn Gud gpid sreurhisdr
(A) wud@ams (B)  upm&lsmg
(C) GengyQamg (D) Cummlams
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17.  One of the statement is true with reference to ¢ymose inflorecence

W grawth of peduncle stops after sometime
(B} fowers are arranged acropetally
(C) axisdo not end in a flower

(D} flower apena centripctally

owGionen iepsfleowi)) durmsgsuany Zpasdm_ smOHdid g w’ GG s
(A)  ensfufien e au’r.ﬂa‘n. euerrEd Hlenmy eAlREOH

(B) agiiugdde gpdiss wersd areiu@denpear

(O omww s el ap el

(I} owwEw epaenl¥a yiass warddmean

15.  As vertictllaster is to Lamiaceae Hypanthodium is to _
(A/ Moracese {B) FEuphorbiaceas
(C)  Apiaceae (D) Musaceae

Qain yaerd i Sadwreld aramiuBeais Cund eapudaGimgwb B sren'Qupdng
(A)  GuonGrad (B} e CurhSiGued )
(0 guEGud D) byl

19.  The Calyx remains attached to fruit but it ceases to grow further. This is called
{A) Persistant ' [B/Marcesoent
(C) Accrescent {I}} Deciduous

L sur e b aefifler G ind sreRTLGLMD. perd SEDECT6 S euerprg. S ey

ampﬁ&ﬂu@ tH?
(A Hewsgs bl sl Lib {B) iwoniFem_
{(C) yadlpeem _ (D) Gedihsusn
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20,

Match the following terms with the pollinating agents :

(a) Malacophily 1. Wind

(b) Chiropteriphily ' 2. Birds

{¢)  Ornithophily 3. Bat

(d) Anemophily 4, Squirrels

{a) (b) (e} (d)

e 3 2 1
(By 3 2 4 1
)y 8 1 1 2
(D) 4 3 it 2

.Ellpéxfadm_ senaE Cerdhaamen, waTEss Cergens sryanfsCerm(d Quﬂ(g;;égl& !

(a)  oeiamm. aile] 1. =srom

by  ensrmlGms e - B, Limemal

(e)  ~auiblsGarClell 3. Gleuemeumen
(d} =iaflGuorl. st 4. esflen

(A) 4 3 2 1
(B) 3 9 4 1
© 3 1 4 2
D) 4 3 1 2

An inflorescence having a no. of achlamydeous male flowers surrounding a single

achlamydeous female flower is
(A)y  Verticillaster {B/Uyat-hium
(C) Spadix (D) Hypanthodium

Leilsbsahp aomm QU woenrd @bk Lellsbsarhn Flapw sy waiser ShessE G
wghauldla ararC@umnElnsg.

(&) GeuigAomeu i (B)  enswrgdsib
(C)  auuimg e _ (D)  epenuRCamguib
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2 Qﬁe of the following statement is not true with reference to sympodial branching
{4} Terminal bud ceazes to grow '
(BY  Auxihary bud Qrowé more vigﬂrﬁuﬂly
(o The plant looks like 4 pyramid
(D Example for sympodial branching is mango tree’

Bipsmanm gy seften caammy, 'FnGu Ty WIGD BUIGDSE éﬂﬂ'}ﬁTﬁ.ﬁ@IE@l 1 & rr@;r;g.rr@.
(&) palhorigen qranitédl Hlmhs o m o

{3y - Eepenfdinmd (Dt Geusinms suemi i g

(C)  sRaurd &ULLS]@ auig GudiFleh EEmammylh

(D} @b o sryawih wmogi

23.  Oaly one of the statement is true with reférence tn ‘Caryopsis’ fruit,
) (A} - It develops from inferior ovary .
{B)  Fruit develops from Bicarpellary nvér}r .
: {C)/' The peric.érp is fused with seed coat
. .{D} AT characteris_tic of Euphorbiaceac members

EpaaanL s pmseiless e wl GG smilwi il aene el @0 GuTEHEiD
(A} &l sessddBig 2 nauridps

B) B edes Goasddmpg e maundpg

(C)  sailglgns mﬁimgu{mmmgéf & SreataLDElng,
(D) wSurmSGwell hboddld sram o Hidng

24 The term ‘Syngenesious’ MeAnNS _
' .{Av Antherlobes are united filaments are free .
(B} Antherlobes and the filaménts are united
{Ch Antherlabes.arg free filaments are united
(D}. Aqtherlﬁbes and the filaments are free

‘Hewldspatl adlwian’ eremmmes

(A) warhsleru GlerartBS(mEELD, OETHSE &b @mm’rmng@
(B)  wsrksimu LHMID EjhESE £1009 G evarba SremiLRb
{C)  EIBEUMmL [FPEmUTEE, OETHES ;l;ﬁuﬂ e o bl (m ez
{tl) WSTHSUHL WHMILD L&k 4. Elenamreing HGRILIEID .

LABO/9 . e 10



25.

26.

(A) 3 1 4 2
(B) 3 2 4 1
© 2 3 1 4
(D) 3 2 1 4

Match the following :

(a) Clinging root 1 Allium cepa

(hy  Tull root 2 Pandanus foetida
(c) Root butresses 3. Vanda tesselata
(d) Stult root i, Bombax ceiha

) (b) (c) (d)

{a
3

1 4 2
(B) 3 2 1 1
(C) 2 3 ] 4
(D) 3 9 1 4

Spdsan_cup@ol) Gunmigs

(@) uppCaursdr 1. el Sur

(b) @pewes Gaut 2. wenmanes S5 g
(c) eampi Ceuf 3. CaentievenGalim
(d}  apl(® Gau 4. umbunrden Eaum

(a) (b) (c) (d)

In Bougainvillea, the large coloured structures are
(A) Epicalyx (B) Coloured sepals
(C) Coloured petals (M Peln]ﬂid bracts

CuinGandn elldmnefla sme iG@LmIb, Quflu, Bmisie ey
(A)  anCaetl Een (B)  Howrarn ydsilen b

(C)  dimwresr syseilan’ b : (D) el eungasenpbluings Leuigd Oleddma

11 LABO/19
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27. Mateh Column [ with Column 11

(a) Verticillaster
(b} Cyathium

() Um b;al

(d) Capitulum

(a) (b) (c)
3 ’
(B) 3
(©) 3
(D) 2

ok o BT e

£

(d)

e B3 s 2

Euphorbiaceae

Asteraceae

Lamiaceae

Apiaceae

. srow L g sran 1l oo da Qurmsgs

(a)  GleumlgHameui 1
(b) swrsfunn 2.
() subud 3
(d)  smuSc e 4,
(a) (b) (c) (d)
(A) 3 1 4 2
(B) 3 2 1 4
© 3 4 1 2
(D 2 1 3 4
28, ‘Humc:gamous head’ is seen in

{AJ Vernonia cinerea

(C) Helianthus annus

W GurmAGued

Stevr Grerl
Ca Gl

UG wserd)

¢

g princ L Slpwogrsdl {8 sremiufEps

(A) QeaurGamaliwur HaCGrumr

(C) afdluragea senemen

LABO/19
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(B) Tridax procumbens

(D) . Tagetus erecta

(B) Cenpusseu yQone) busien

(D) cglien @réen



29.

30.

31.

Paolvarch and exarch xvlem stands is seen in

(A) monocot stem I[[v moeno cot poot

() dicot stem (D) dicot root
Limallmy & em i crécu.ayiTé ansah -— Camsnm&lns
B g s gmd (B) g A Gai
(C) - @ shlzdema sam (D) @ ebislena Caur

layer gives rise to root branches
(A} radicle (B,permycle
(C) endodermis (D) epiblema

Ceurdlemersenar GammpeddEin i (HEE
(A)  Grusa (B} Glufiensden
(C)  eramGLr@ e (D) efQass

Duramen iz

(A) Outer region of secondary wood
{B" Inner region of secondary wood
(C)  Part of sap wood

(D) Part of periderm

LTl D6 eramLg)

(A) Grawimb s e uwiler Geuefiuimdl
(B) Greawombd sl ufer 2 ar Lgd
(C)  smppssea e gm ugs

(D) QuAGL e gn LiEd

13
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32, Assertion : Cambium is g lateral merigtem
Reason ;. .Cambium produces secondary xylem and secondary phloem and helps in'_. '

radial growth

- {f‘il Assertion and Reason are correct
(I3} Assertion is corrcet but Reason ia wrong
- {C}  Assertion is wrong but Reason is correct : S

{1y  Both Assertion andl Reason arc wrong

adiygsss : Cebdub e Uss BécsHs
smpewd ¢ CabiGunbd @n‘ﬂhL_rrLb @& WDPEMD {5 TeRTmb a"nu@ﬁnmm E.:;r_asurré;ﬂ. 5 T 5 55,
auantriFlég o waydlog) '
(A) éuaﬂ_mg]@ﬁ@y by &miranTmb St
(B)  eudflymbsds s smpamnd sy
O arflumsse sem sryem o
Doy - mﬁﬂuqimjgﬁ\@jl:n FEMTELMD SEuy

33.  Branch of study of age of tree by counting the annual ring is called

(A} Ageing . - . : (B) Countrology
{CV Dendrochronolopy (D) Chronology

e, () suenemu SEarn iy O wiley orhiseaf et suﬁ_l,eﬂmm gy Elaneruflan ok
(&) . apdln s _ - : (B)  seyamgrangl
{C} Qg CrmmGrasamas) o (D) @Crranmag

34.  Sporopollenin is chemieally .
Ay Homopoly saccharide (B) Heteropoly saccharide .
{Cv Derivatives of carotenoids . (D} Protein '

- anCGunGrrGumeliafen Cardl sémams _
. (A}  GanrGuor unaﬂ@&&.é‘n}f_ . o (B) dang Grr uralGesenm_
(Cy  sCprlgammireer - : (DY yyso .

LABO/I9 . | TR - e



35.

36.

37.

Apogamy 15 )

(A)  reproduction in hnuta;‘in
(B)  reproduction in viruses
{E‘.), failure of fusion of gametes

i) loss of function of reproduction

SiGurGad] araniz

(A)  ursefiureiian @eniCumssapen
(BY eneu rraﬂm@_muﬁu@&.m (PN

(C)  @rank Gaud (e @ et e el
(D} @erlCumpdsab dawdlipuug

Filiform apparatus is a characteristic feature of
(A) egg (B) =zygote

{D}I synergid (D)  suspensor

Flmiyy Uairl ) Slelliumyn syenwn s gk

(A)  wmiesiib (B) ensCam

(C)  Senmef (D) even@usteont

Phloem in angiosperm diffors from Gymnosperms in having
(A) . Phloem parenchyma

(B)  Phloem fibres

I:OI Companion cell

(D) Sieve cell

= S GwmsEum e SuyGemun  SnCamsvdurpsefia
Coupiu(pdlenmen

(A)  <nCermund umysnenanm

(B)  SyGarmuih mri Gledser

() menenr Ceassr

(D) sdea el Gedsd

15

SyGamugddopg Qe

LABO/19
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35, Pollengrainis a
(A) microspore mather cell
(B) male gamere
{C), male éametophyte
(DY  partially developed anther

WEIES FET G

(&)  ewasCrranCGumi gmi ded
(B) e Cabl,

(Cy e GCauwlGLmlenol”

(D) und e gmaura wapEgamL -

3% Perisperms in fruits are formed from

(A)  Sced coat (B) Integument
(Cj’ Nueellus. : : (D) Endosperm
seflgeflan Wuflen@uirapsanr BEha e maundpg).
(A dopzap ' B) @womp

{C)  fyg e (D) eanGrreu@uid

40. - Post fertilization product of ovutle is

{A} Embrva {B) Endosperm
{Cv Sead _ {Dy  Fruit

G SOHUNBRSE T —— - oM élms.

(A  sm {(3) smoxl:. Ha
{C) diang (DY mefl

LABO/19 | 16



il.

Endosperm is the resultant of

L]

(A) fusion of female gamete with diploid secondary nucleus
{Bw fusion of male gamete with diploid secondary nucleus
(C)  fusion of two diploid vegetative cells

(D) fusion of two male gametes

ereanGLrauGlumd @Hspaland e mairdos)

(A)  Quessr Gl whHpb gemmdi” Qese ( By sefiuich @enemeusird
(B) e Calll whmh 1y Ciamii’. Gesam f Sy sefuieh Gaaraupnd
(C) Erea®glemil e & Qs Baarauzgnm

(D)  @ren e Call Gmenausn

Ovule with horse-shoe shaped embryo sac, where funiculus and micropyle are close to each
other is called

(A)  orthotropus (B) anatropous

[C}, amphitropous (D) circinotropous

SR Ead whpin mwsECrmamUd smarts o der, gdapan. aigenb &N Sl o aer @

Beaarm sepssuuiidng
(A) =CemyGoruey (B) sienmg Gomchs
(C)  subuShe Comueiy (D) &ndlGanmg Comua

Triploid tissue in angiosperms, 1s
(A) nucellus (B endosperm

(C)  endothelium (D) tapetum

< eplGumaumnbaafli esrer g fllarmi Ssser
(A)  Bubsdaey (B) asmemii fl&
(C) eramlGLrfalwib (D) Siiib

17 LABO/19
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44,  Citrie acid is pmdu.ced' in plentry by

{(A)  penicillium sp ' . (B _' rhizopus =p
(CxdFl aspergillus niger (D) acetobacter sps

.f.ﬂl'_r'f'lé.;‘—._a!Lﬂmlh AFambg QdupluBsng
(A) GustlHdblunn (B) engGemuen

() =mevursfldadn @'n.r_r;_.aaﬁ : (I =mdh B momsLr

45.  Aerobic respiration process requires

(A)/ 0, ' (B} 0, and CO,
© Co, {D) €O,, 0, and H,0
Fermils Hprdgsdld CameauiLiBags
A 0O, ' - (B) 0O, uhmi CO,
D) CO, (Dy C€O,, O, whmb H,O

46, Conversion of organic acids into acetic acids by acetogenic bacteria is called
(A)  solubilization _ _ (B/acidﬂgenesis
(C)  methanogenesis (I  hvdrolysis

SifrEnais; snfwias 281 4é snifanons wipmb Heapa oé CLrlmais Lnse fuielis G -

SenpssuubEng.
{A)  seapged o (B} o 2 HLSH
Q) Quggermd e @meummsa (D} froan ga
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47

48,

49,

The metachromatic granules are geen in the bacteria
(4  Escherichia coli
@V Cornybacterium dintheriae

{(C) Pseudomonas aeropinoea

. (D) Bacillus anthracis

QulLrglanGuly & sisdtaen Shsair haire ulfwd srasriu @ Ang

(AY mGamsd

(B) srreflumrgefunb 050G

(C} @B _TCIonanmeiu el Cegmram

I Gufideh g hsrTden

Bactarial ceil wall ishcnmposed of
(AJ Murein (B) Lipid
(Cy  Cellulose : ) (I Chitin

ur&leflurellsn Qb seul 8 ST DpamgE
(A) 1By - ' (B) Qamigliy

O QedwiCoten _ D) wsigdr

The movement of bacteria towards or a.way from a chemical substance is called
(A} Tracking ' {B), Chemotaxis

{Cy Tumbling : {1y  Brownian movement

.g@ Crrdiaflwm @Guﬁﬂﬂu_rr@@mm CorafGur eag SiHed mbg G Aadgyn Hlepelone

E)EUGUN BISHLPEFHATLD
(A) ' Cradi B ECom_raad
(€C)  bafim o | (D) LQmerefud sesey

19 : LABO/19
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50.  Absence of flagellum in Bacteria is cgl]ed as
{A) Mornotrichus _ " {B) Peritrichous
{CV Atrichous (D) Lophotrichous

sansuilenp Glawmod sremiLiw e fudhsoar Fldcurn S phEaamp.
(4) CorGamganpsa (B} {Quflisrssi

Q) ageryme M) CrrGumgmnsd:

1. Aridophiles are .
(AJ Bacteria which can tolerate acidity
(B) Bacteria which can tolerate alkaline
{C) Bacteria which can tc-llerate water

(18)] - Bacteria which can tolerate temperature

S AGLrenLIien eTehilg)

{4  cullwgmg srid Dandrgpnd Lrdeflur

(B) asmisdmeweny gnhd G@nsi‘r@ni: L.lll'ﬁ';lp_lﬂl.l_lll'
(C) B gyesspsad b Bsrdgnn um-'muﬂu_.lrr

(D Gaufenaew rid Qerdmenib unsefur

2.  Sugars are Dxidiaéd into COz and H:O by using
(&) 0O:and CO: (B) COz
ff 0 (@) H0

srksany gsatsrenomby CO: wppnd H20 s wamb@urps Bless a@isstardadng
A)  O2 wpmbd CO:z B CO: - '
© ox © H0
LABO/18 20



53.

65.

Viruses are made up of

{M protein and nucleic acids (B) protein and carbohydrates

(Cy  lipids and nucleic acids (12} starch protein and lipids

ENGUITEN [FEEmTTED 2,605 ;

(&) wrsd wpob fluseafls oyblan (B) wgsb womb sriGuraan’ GrlHisem
(C)  Ganrppdi) wim Bl sefls opflain (D) eeLmid wpsid whmib GHaEmpi|

Micro organism can be inactivated by sterilizing the medium under steam pressure called

(A)

Red heat sterilization

{B/ Moist-heat sterilization

(C)

()

Ineeneration

Chemical sterilization

Ermellls Gurédlarme piamaniuifissnet Gardaid Habeblenan Geueaurm iemipiui

(A)
(B)
(C)
(D)

Heuti) @ ® meranudi fasn
LS @ Eeranudt fEs0
(gauBHID eTilHmE

CaudlOGummer memmamuili Géah

Powdery mildew disease 1s caused hy

(A) Aspergillus Sps (B) Penicillium Sp
{ﬂ'v Erysiphae Sps () Fusarium Sp

Eensouaym Crmenus 2 en_mdgn Smul

(A)

(C)

syansLT glebaieny (B)  Gugdlfiaiub
erflenalzi (D)  yaafluan
21 LABO/19
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5.

a7.

58.

Micro organiam tend to adhere to any surface and produce a layer is called

(A) Thinfilm (B.;, Biofilm
{C)  Biofuel (D) Muecilage

metr g Gflsar arg Gl SEaid Grns Glarrﬂ'r{gam genemn waLwg, dng ubs u@ﬂuﬂm H(H Gll.nm
UL EMS a_g:ug;ﬁ Qaidlpg. Mg

(4) Gl uab (B w8 uLebh

{C} et afGurmer - (D} eaflp fir Gumenp Aumaser

In cyanobacteria Hitrugen fixation takes place in a apecilised cell
(A) Hormagone (B) Akinite

[CI Hetero cyst {I) Nanocyst

swGeamurswfwredlh aprgpenen Flenaliupagmn edana Hdicumny sienpsemb

{A) amimolaran (B) gomsal
€ ol qGomficvr D prCanrfico
" During glycoysis glucose broken down in to ———— mﬂlem.ﬂea of pyruvic acid

@ 1 of 2

< 3 (D) 4

denarsarellfeh Blapallar Qumps miersCaray oo B —— @pm-&sw aumelE Sndlanons. |
wipEDE.

A 1 B 2

© 3 o 4

LABO/19 22 | <«



60

61.

The Siderophores has high affinity towards

. & Tron (B)

(C) Chloride (D

A GynGunnaar eranuig) Blseen Wla Gl maswnmens
(A)  @moy (B)

(C) @Caneng(p (D)

The hormone responsible for apical dominance is

& 1aa (B)

(C) ABA (D)

b apniCure miefl syflsssda ule Qerarding ?
(A) IAA (B)

(C) ABA D)

What is the net gain of ATP during glycolysis?

Magnesium

Copper

LD

SMUILT

LA

Florigen

GA

Ciammileges

10

4

10

4 2 (B)
o 8 (D)
Samsandaic-an aueld aismar ATP gpasampsd e mardpg?
A) 2 (B)
(€) 8 (D)

23
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62.  What are the end pmdupt of fermentation of sugar?
(A) Wﬂt;ar and carbondioxide
_ (B/ Aleohol, car_hun&iaxide and energy
(0)  Carbondioxide

(I Alechol

Eﬁ-ﬁ;mﬂ' Aprdsgeler apr.ehled e ReumED @urr{[ljﬂ‘l‘rﬁii'l. eTane ?
& Biopgd i |

B wybsained, srivLe b oHgb bpd |
(C)  smiugne_Zsamn(p

(I gevsapmd

63. Kreh cycle is a component of
(A)  Photosynthesis
(BV &emhic reapiration
(C)}  Anaerobic respiration

{D} Photo respiration

AQgds sphA ererug e AEm e wisy
(A) peislarias

(B) smp ﬂ_ﬁrm FEUNE (PR

(C)  asnpiiden ﬂmv‘ PR

D) @l swuns prap

LABONS | 24



64,

65.

66.

Kranz anatomy is peculiar feature of

(A) Cyplants fB/CI plants
(C) CAM plants (D) Czplants

dlynenaiy wararaniolL] aThs suens sreursslen apiElunmen @enirdlawin?
(A)  Cagneunbd (B Cagneumb
(C) CAM smaurp (D) Casreusd

ATP formation during photosynthesis is known as
(ﬁ!’ Photo phogphorylation

(3} Phosphorylation

(C)  Oxidative phosphorylation

(DY  Photo oxidation

geflFCorsmauiisn Gurgpg ATP e @meursug sréuaungy ienpassiiBdng ?
(A) CGurmlComlummurfGaagen

(B) JursuunfCuagen

(€) msalCL e SursumrfiGoager

(D) CGumiCLr &afiCLsen

Functional unit of photosynthesis is known as
(A) Electron (B) Photon
(C)  Chlorophyll (D, Quantasome

cpeflaGaraanmulen GawmLm e g erausurn empasuuHEng?
(A} creusLimen (B) Gumrimen
(C) @CanConwYd (D) @wauar nGsnd

25 LABO/19
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67. NPK denotes
{ﬁ.} Mitrogen, Pratein and Kinetin
(B}  Nitrogen, Protein and Potassium
(C)  Nitrogen, Potagsium and Kinetin
{D)/ Nitrogen, Phoaphorus and Potassium

NPK arengé @H&E0H7 _
(A) mjn;'_ TiRe, LGOI g6 whID enEenL g 6
(B) eoplpgen, 4Grrlgér whmb Qum: aflunb
(O enplgggen, um L ofunb nmpnd enseam_ iy en
D) eplrgen, urdvuren WHEHID QoL rFlunb

68. “Heart rot” in sugar beeta is due to the deficiency of
(ﬂl Boron : (B) Copper
{Cy Cobalt _ . ﬂ]} Manganese .

sirgmany cuerel) &ahidld o Binpsd arpar LnpTSGe LW qiufding
(A Gumpnes - (B) sndpo
) Gamumdl D) masals

69.  Whach one of the fnl!uwing’ié micronutrient?
 (A)  Nitrogen  (B) Calcium
| {CJ Copper (D) Carbon’

ECGyp QarBEsLu(ReTeT a5 [emam L 55517
{A)  enploggen : (B} smafiub
© smdns - (D)  anisen
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Enzymes bringing about hydrolysis of esters and peptides are

(A) Isomerases

I_’B/ Hydrolases

(C)  Transferases

(D) Lyases

ereivL et wibmth Auien Haafld frmd LGSsd eflamen pen Glup e gayb Gprd egy?
(A) mCanCGuCreven

(B) evant ConCasanc

(C) Lyremevm@uGyeuen

(D) meGueyen

Which one of the following is a co enzyme?

(A) Fe* _{B/ NAD*

(C) Pyridoxal phosphate (D) Ligase

ECy Qasnpasiiu’ Peareraupfld ag e Axrd?
(A)  era@® (B) erem.q.ig’

(C) eoufl_raeune SureoGLil. (D)  enaGaeu
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72.  Which of the following has peptide bonds?

(A) Nucleic acids

(C) Carbohydrates

{B} Lipids

{I{ Protuins

&Gy Qarpésiu Leagslld Ul { Eoamiysd aréld aremili(es)? '

(A)  Pusohs odemsar

(Cy emtGunewan G’ Hsdr

73. Cholesterol is a

{A) Moncsacchartde

W Sterol

QamesisALgme GTERLIS] G(Ih
(A CGuwrCanr srazmy(d

(C) cugrme

74.  Fata are abundantly found in
{A) Vegetative tizsue

(C)  Vegetative and reproductive tissue

Qaryguy oifls sarefld add srariufspg?

A i ads

By SonSHesdr

(D) yogead

{B) Protein

D) Wax

(B} uysw

D} Quum

(B/ Reproductive tisaue

D) Leaf tissue

3 BenQumss Hs

€ erawimbd QauBunss dsssafio (D) G Srszatih

LABO/1Y
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T6.

The atmosphere arpund the earth warmed because

{A)  warm air cannot escape as in greenhouse

mm molecules in the atmosphere are warmed by radiation from earth and retain that
heat

(C) foszil fuels releases heal

(I¥) plants absorh carhondi oxide

ciiullem enmenicleuetlubles GleuliLinnes ElmULSDETEN STemTLY GTemen?

(A)  uFenwns @Eruenw Curenmy Havuuarpmn eoaflGun afudidmea

(B)  aumsnGeellla o wodsmpesar yalllea @mes Geaefivufie Qaiuifamen s&s
aneuSES GlameTelSam Ansoin

() unsle sTil@umm e el (HiD GleuuLhdlen ppauinms

(D)  sraupissr aflubloamysnal 2 ligrsealser (halons

Most govere environmental effect posed hy hazardous waste is
(A)  Air pollution

{B# Contamination of ground water

(C) Deforestation

(I  Biodiversity

wlsa b Glonsionean sgple I'JQUET@I'_EQTFT-!J-I} sppEgsoHaadia sflaons urissiiuBas) aa?
(A)  srpm wrEUESD

(B) flagsnfr orsuEed

(C) asrpsar fliGs aumse

(D)  vagulr umesn GHammad
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77.  In India, which one of the following states has the largest inland saline wetland?
{A) Gujarat Haryana
~{Cy  Tamilnadu : ' (D, Rajasthan

Efdwurelid, Spssdr mrr;ﬂmmaamﬂw qmﬂasmrra; E:;urruu génan Ganame flon GmémD wrblaub )

STE?
(&)  @ros (B)  yMwment
{C)  sbipmrl (D) Errmetogmsd

78. A eomplete succession is called
{A) Ecological succession
{B) Autotrophic succession
' SERE '

(D) Heterotrophic succession

apipemowner QEmsuemilency srdueuny s ufh?
(A). maaragésd Gpriremiblea

(B) G prndls bgmfeuatiilene
C)  eumtflena

D anlgComrmOés Ggrn.ﬁmmr’rﬁmm

79.  To achieve conservation of Biologieal dwermty is usually necesaary to
(ANF Restore Ecosystem
(B) Introducc certain apeciea

(C) Establish protacted areas
{D) Checking waste disposal in the forest

were WGH LngramlSter sieudlwu (or) Gﬁm@ aTETE 7

(&) e diflear seolysenst BB un;ﬁasrrﬁsgai_i

B) yfw awamsurer sraurtsmer SfopEIRESSD

{C) weniuEHamer uﬂlugrrs B e EEsd

(D) sfeGurm samar arpaesis dsdangsammny ﬁ{éﬁd}

LABO/19 30 <



80.

81,

a2

The first stage of lithosere is
f.ﬁv Crustose lichen stage

{(C) Moss stage

A5 Ceralifien apad Haa atgy?
{A) ElgenGL e eneudsen Hlane

(C) e fHlena

(B)

(D)

(13)

(D)

Phytoplankton stage

Foliose lichen stage

UG Sarmm_men Bleana

GirellGuimen eneudmen Hlenew

Epiphytic lichens and mosses have been used for monitoring

(A) soil pollution

(C) oil pollution

(B)

water-pallutinn

fﬂlﬂir pollution

ailant i 1g & eneEsa (OHMILD WTEe) HAUIGT THS 6 DAFEETET ML LITaMD Sree o Hasln sl

(A) f;lr:u AL

(C) erewrGemiy Lt torsLm(®

Which pyvramid is always upright?
(P'n}, Pyramid of energy

(C) Pyramid of numbers

ahs AnSi@ CuodGprad swmiowb
(A sphmd Ganymo

(C) aawadn Camygin

31

(B)

(D)

(13)

(D)

(B)

(D)

Setresm wiraLn(®

srmlem wrsLn(i

Pyramid of biomass

Eltonian pyramid

LGumomay Gamryrib

srGnaflen Gamurib
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- 83.

84,

If the inverted segmeant of DNA does not include centromere, the inversion is said to be

{h/ Paracentric

(B Pericentric

{Cy Bicentric

(D) Monocentric

DNA genardip giedbmo.dy Geam Comilur Gidaomnd ;ﬁml_@umjti} sl KHGSD Aapelid e o

CQuwk?

(A unmgrllacn_ fis

B QuiQeem A&

()  suQsen fs

(D) CorGamQsan A&

At what condition, gene ratio remaina constant in a species
(&) Gene flow |
(B) Mutation

(O Random mating
(I  Sexual selection

om fpasdan sidn Ll erFmpda Hmuwmasns Bmemi
(A e upayge '
B)  s®F wrhpd

{C) Cor&mddaryanria

() undlan Cpirey
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B6.

87.

The type of ribosomes found in mitochondria is

(A) 80s : m)l, 70 5

(C)y 0oObs (D) 35and 25 s

enwol. G mmmeme A iumeile) smem LLRIn engGurGeniieilan cuenes

(A) 80s (B) T0s

(C) &bs - (D) 35and 255

The tail of a lipid melecule in a plasma membrane is
{:\J Hydrophobic nature (B) Hyvdrophillic nature

(C)y Neutral nature (D) Boundary nature

dlammaaLnr sealleh o arar eblGH ppaiommiellen aime ardHansi) Semenioient LIS
(A) ErQamésb s (B) Arailmibuyb senan

(C) pHPaa semenn (D) erdseman sdnanin

Glycosylation of secretory proteins takes place in
(AN Rough ER (B) Smooth ER

(C) Sorcoplasmic reticulum (D) Pernxis-r:-mes

@i Lrsksater SenardGanmaGaeea penblumbd §Lib
(A) spagluranr ER (B) aupapiune ER
(C) amGamBamauils ane (D) Guryn&flCamban

33 LABO/19
[Turn over



88.  Satellite DNA is present in the region of chromosomes.
(A) FEuchromatin
(B)’ Constitutive Heterochromatin
() " Heteroch romatin
{D}y Facultative Heterochromatin

EFHSnCGurGendler anp gl e snymar. DNA seroupdma,.
(A wEGynond e |

(B)  ardmauig @ ubga Gam g Errglrmany iy en

(C) QaplrGrrElymor yen

{1)] L.JFFEHSE-HGI_E'J:H Gam i CongnGymom_ig.c

89, The cisternae of golgi bndf at the proximal pole is
{A)’ youny ' (B} mature
(C)  medium (D} cmerging

s o.wgdlen HavtiGenaller Lits g]@ﬂ.i.lh craucumy (@ maEh

fAY Geanwrs . (B)  qpfiss _
Q) ER&sTorE (D) epeungn Blanauudieh

90. Cansider the following statements

Assertion (A4) : Replication, Transcription and translation is a non-continuous process in
Eukaryotes
Reason (R) : Polysomes are present in Prokaryotes

tA)  Both (A} and (B} and individually true and (I}) is the correct prlanatmn of {A)
{Iv Both (A) and (R) and individually true and (R) is not a correct explananon of (A)
(€) . (A)is true but (R) is false

(M {A) is false but {R) is true

Epaaram b eurgdluksener gousfl

Fn. 1My (&) uq.@uj@(éa.gsib, Brddumssa opmb  GomAQuerggd  (goveardvlasdr)
BEpesdr L Caflwm_ safle Gem_isflurs e CQuorg :

smpand  {R) @ yGoremflunigd undiCemiadt aremOuGAnsy

Ay A wppbd R) BrecmGo ofl, Sogin (R) :m'mugj {A)dlild m stlmen eblemdad

(B} (A) womb (R) @oarCw &M, Cagub (R) erdrugy {J‘i}aﬁ‘!m@ err‘FIquram el an Lo shen

(C) (N o agammsd (R) gauggy '

(1) {A) seum eand (R) =M
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a1.

The approximate time when life originated dates back to

(A) 200-— Sﬂfi million vears -
(Bag” 3000 — 4000 million years
(C) - 4000 — 5000 million years

(1 500 — 1000 million yvears

2.uliremn Camamplu Gsrgmueme Greain
(A) 200 300 Blablwdn syamBae
(B) 2000 — 4000 Wl abl we e (p e

() 4000 - 5000 Aaadluer g

(I} 500 — 1000 Blaeliuem Syt ser

Fassils are most commaonly preserved in
(A) Metamorphic rocks

(B)  Igneousrocks

_ [C’ Sedimentary rocks

(D) Calcareous rocks

Aprégndt Qungaims LFHUGESILED GLid
(A) Gl norrSs uresn

(B) @salfufuen urenp

() e Gwear M urenm

(I3} semramTmIDL| LIFEnD

35
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83, Solar system originated from solar Nebula ————— billion vears ago.
C(A) 16 ' . B 36

o 16 )

el |
it |

@&Mw Apusneflafimbs aspmar rdadlwen sypamRsamsa (e Gy war e Ssreriug

(A)Y 1.6 . By 38
(@ 46 (D 5.7
94, Divergent cvolution of a single group of organiems in & new environment is called

o adaptive radiation

(B) convergent evolution
(Y  co-evolution

(D} divergent evelution

Lifw @pdld G Agrad o wipann QaeiCain wfiselid ufiamiob e cughE Guwi
(&)  sswemoul) zdneiss

(B) @55 Uflemm Lo

(C)  gCruflammon

(D) Qeusulfaum eyl uflammms
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95.

96.

In Primitive earth, energy was formed from

(A)  Lightining

(BY  Vaoleanic eruption
(C)  U-V hight

{UI All of these

Lipanowmer Litdlubler 2ymme RIS BHEl £ HeuTarg)

(A)
(B)

(C)

Wl emanTen
erinena) Gleuig Ll
Ly e o]

Blemey yamenggih

According to Darwin evolution 1s a

(A/ slow, gradual and continuoug process

(B)
(C)

(D)

a sudden but digscontinuocus process
a slow and discontinuous process

slow, sudden and discontinuous process

criefler Camlun® Lg uiflesrmiolh ererLig!

(&)
(B)
(C)

(D)

Gngeurer, Lig Liguirear womin Ssrersflumean flapey
Ber womb HDer_fiflulidan flapen

@ingieunan ohmib HsnrEfulldeawn Bapel
Quogieuman, Siem womb Gem_raflubldann fabeay

a7
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97. Read the statements given below and identifv the incorrect statement

(A
(3
{C}

l'."Lnutype is the genenc constitution of the phenotype
Alternative form of gene is Lalled allele

The number of types of gametes pmduEPﬂ by heteroxypeus individual is 2-

{Di, The number of types of gametes produced by homozygous individual js 2

Zipasnggd anSEutEman Uk 555 Sounimen eunasligng eaﬂésr(_l";lﬁlql_

(A)

(D) .

(€
(D)

SEFCsrmnEHd wrog HhsGo nsCerbowrmib
1)) L gmyeiain InQre T civedad
Gam g Cyrassd gaflkugnd e mamsstiuBo smAl g wss wHnw aerafésms Gy

CapmGunensgay ellugme o gpansslUih STl g ams wHmb aerwisns @rjm:r@l _

ns, Which of the following is correct?

(A)
(B)
AC)

'A" forms 2 hydropgen bonds with ‘G T forms 3 hydrogen bonds with 'C’
“A’ forms 3 hydrogen bonds with “T"; ‘G’ forms 2 hydrogen bonds with 'C’ _

‘A’ forms 2 h}fdmgen bunda with ‘T"; ‘3" forms 3 covalent bonds with: ‘C

(DI A farms 2 hydrogen honds with “T"; ‘G’ forms 3 hydrogen hunds with 'C’

&G pdrarenauuild) erg) #M7
(A ‘A2 eanlgssi Senserdeu 'G'u_|L.£iiT e eunb@in; ‘T 3 eo@pl radm L‘i.lmmﬂm_u_l.‘{.]’ul._dr
£ (HEUTEGLD

(B)y ‘A3 _m@mm Semextieon “T'UL 6 2 maundgd; "G 2 eoppt gsan ey Cuyen
N | B BAUTEELD | ' |

iy 'A'2 m,ﬂ;_l'n'.l,'lsdi Weraionn Ty 2 meundgn; ‘G’ 3 Carquevan_ SleamUmu ‘Cluy s
- o MEUTHFLD - '

@ A2 oaplredn el T e e @eurdgh: ‘G 3 agpl yes Neavenriean *Cueh

LABO/1%
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o,

100.

The individuals in which the genomes making a multiple set are not alike are called
(A)  Autopolyploids

(B}  Polyploids

(C/ Allopolyploids

(D) Triploids

G Hafl n._u_tfi.rﬂuﬂ'réu, BEammibaena & Haurdgh Lia Ggrg s gaddaawmos S inhE G
(&) =l G mumahblermidig

(B)  umsllfSlariig.

(C) e GeomunadlGermiiig

() gAliSermiE

Read the statements given below and identify the incorrect statement
(A) | Mendel was a Australian monk

(B) Mendel called genes by the term characters

{Cl Mendel experimental material was Mirablis Jalappa

(D) Mendel published his work in the year 1866

ECip Quresiiul Garar eunsdhunismen Lie &) o HaupTan euraEiuL erem s (5,
(A)  Glnstrg sremuenm am v flusn ginel

(B)  Guogin_ g (bpuamssaner LIt RaT sranrm Glameema S EamLpEETT

() Qe sblan Gamsanen Gumaner W8lymSeblan spevmiiir

(D) Gloen_d s Censanen pisa|seme 186860 HeuefudlLnmm
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101. Diphycophilous lichen possesses
ml 2 Algae + 1 Fungus (B) 2 Algae + 2 Fungus

() 1 Algae + 2 Fungus (D) 1 Fungus + 1 Algae

on_enuGamSwe mabsa asgsenal LNdl wnpD Lenmesaoa dunilmad pm?
(A} 2 unflser + 1 Lpenens (BY 2unflsdr + 2 yenemasct

(C)  Lundl+ 2 Enmase (D) 1ur#l +1 yenens

102, Which lichen serves as a food in Tundra regions?
(A)  Parmelia omphalodes ElVCla_dunia rangiferina

(C) Cladonia crispata | (D) Parmelia subrudecta

‘wnpr GArGaesdld’ aibs epardsan nemaims Liwent) 5l me?
(A)  urmbsflur gouGora e (B) AerClmaflum greng)Qufeam

(C)  SenGlmaflwm Sl (D) wnfSeum s0mEL s

103, Which of the following lichen grow in polar regions?
(AW Cladonia rangifera (B) Cladonia coccifera

(C) Cora pavonin (D) Cladonia floerkeana

&G Qarpésuiul. massasals gme FrCsssHd eueé suguis eas?
(A)  smaomGEl et pmemedl Gl (B)-  deumEmailwim smdfE o
(C) Csmgm uGeureflumn : - (D) EeonrBurafur (Ganilseamn
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104,

105.

106,

Which of the following is correctly matched?

(A)
(B}
(€)

Uiaxial form
Multiaxial form

Siphonous form

{Uv Parenchymetous form

Vauchena
Batrachospermum

Polyziphonia

- Ulva

&Gy QarfEsuu’ L aeusafld stlurs GLnmasslu_Berans) org ?

(A)
(B)
(C)
(D)

el Eameet Blena
ey g Amasy hlane
anFiLeray Hleanaw

Lrumganensoie g flene

L]

Elsuamal i
@ mrGarau@umon
Lmeblens3umeadiun

T

Which' of the following 1s correctly matched?

(A)
(B)
(C)

Haplontie
IDhiplohaplontic
Diplontic

(Da# Haplobiontic

—

Cladophora
hatom
Oedogonium

Batrachospermum

Eipssam_ancusafild ergy sflwna Qunmasiu’ Bararg?

(A)
(B)
(C)
(D)

Qapliarans &
wUGanlapiiamerg &
LRET=V (=215

GlandiCarranuiwimeing &

Akinetes are present in

(A)
(C)

Volvox
Gelidium

gensma ([Hed sremuupeais

(A)
(€)

QUTEISUTEE

E]Esﬂhn, wilh

BearCL nGurgm
LgimiLin
o Gerafluib

LE orGanren@uimoib

(B) Gracillaria

(D3 Vaucheria

(B) &ACg&Gautiwn
(D) ewaMGaflwr

41
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107.  Production of two kinds of spores by a plant is called
{A) Apogamy (BI Heterospory
(C) Ilomospory (D) Sporogenesis

greupnaetamme @ rard eueawinen enGurisst e mugdl Geiulin@eas
tA)  auCunCad) (B) Qg Grra G
(O CaprGunmaGun (D) ewGunGordmeaiSen

108. Unlimited growth of sﬁumplwm 15 reported in
(A) Hepaticopsida (BM Anthoroceropsida
(C)  Bryopsita (D)  All of these

auCunGrranu’ aveniesl sLEULT b sraniu Heug sl ?
(A)  Qepiumwsstifn (B) pCarCrmGayniifln
(C) Geaqumidir D) Gupesflu ensndanb

109. The process of transformation of the organie tissues into stone
(A) Impression {(B) Cast
. (C) Incrustation W Petrification

siflots Qummlser anserms wirpib Blagpey
(A)  flame (B) = meuib
(C)  Lig@wonsa - D) aamnEsd

110. Photosynthetic part of Funaria capsule is_
{A) Theca (B) Columella
(CygP Apophysis (D) Spore sac

LGarflwr sri@eld araniuBfamn gaflsCarimals ugH
(A) - fan (B) argQuwden
C) =iCUrenLIfian (D)  eCunit sieen
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111.

112,

113.

Which of the following is the most important Indian fossil of cycads?
(A) Rhvnia major

(B)  Lyginopteris oldhamia

{C' Willinmsonia sewardiana

(D) Rhynia gwyvaone - Vaughani

&Cp Gl ésuul L eneusatla e apddhuinren BlbE s LT mg;?
(A)  anyefiuin Guoggi )

B)  Qogemiufias gdLislur

(C) Al Genaflwin Maurigwiranr

(D) ayelure=lar-Uamanail

Gnetum gnemon can reproduce vegetatively by forming buds on
fA) Stem (B) Root
{CV Leaves M Stem and Root =

Blrin BCwmen sroumduia ‘Gumn @ e meand@afan ppob 2. Aumasn dedidlpg,
(A) e | (B) Geuflé
(C) Eeanawaaila (D) maor(® whmo Geadfld

The needle leaves of pinus, the albuminous and tracheidal cells are collectively called
(A) Vasecular tigsue

(Ef Transfusion tissue

(C) Resin duct

(D) Mesophyll

enLlana cardfluflenaniles sremiuin mdyblardy opnb grsfd Gedsaili Gsr@Elnu i
e ipddElGmrD, '

(A)  aune@aimm flsssem

(B)  gyneeugever Hasmd

(C) Qrélen &l
() SGsmBcsen
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114. In Gnetum, the cupule in the fusion of
l:r:‘sf Nodal bracts (B) Bracteole
(C)  Perianth (D) Uniseriate hair

BULIDb graugsle SuEuSdad oy Geoarand o nilpg

(A) agndien dedldne Blememauna (B) SlgrdygCuirs Blenaeraurs
(C)  Sflwrens @enemraumsn (D) samauflonsufles woaniobs (o9 sermite

115. = ‘Sago’ a starch 1s obtained from
(A)  the stem of cveads
(B) the seed of eveads
(C’ the stem and seeds of cyveada
(D)  the cone of cycads

'wrGan’ gm soLnitéd e ddlmbg ——————— Hov_sdlmay.
(A)  anaalav — @i semgdlimbal

(B) owsslsv-Ben Slengulcllmez

(C)  esslen-@er san() wpmib eflang @ mHa

D) msslav-@en s mis

116. Canada Balsam is obtained from

(M Abies balsamea (B) Pinus roxburghii
(C) Pinus wallichiana (D) Agathis alba

‘ser undad’ il mha Hasdns

(A) gSweo undsmBwir (B) suess grevuirad
(C)  enusenay eyl fuimenn (D) sumndeh wydur

117. Microspores of ¢veas are shed at
(A) 1 -celled stage {B/ﬂ — celled stage
(C) 2 -—celled stage (D) 4 —ecelled stage

enedae grarhdle Warhs snéar aagonan Cledad Garar_ Blamauiid ECyp elipdna
(A} 1- Gsa dlawdia (B) 3-Gsasd fleauda
(C) 2-Gsasa Aeoauia (D) 4- Qsdser flencudich
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118,

AR

One of the following statement is not true with reference to Tumeated Bulb

(A)
(B)
(C)

Stem is very much reduced
Meshy leaf bases ave arranged in a concentric manner

The outer leaf 1s dry and scaly

[lv Flashy leaves overlap

Spssam_ sppaaio e 2 o Quren GlpsSHE0 Aurmhss

(A
(B)
(C)
(D)

sam (5 Blean @emdla s
aren 1L T Ty e @mm&,m UL ey ella ﬂmmﬁﬁﬁé@m
Geuaflih sremiu@hn Gama e wihs @sdea Gumes arammiL{in

FenslL mpieTen @enaisen epanblan G genmrs Sremrlufin

Match the kinds of stipules with the plants :

taj
(b)
e}
(d)

(A)
(B)

e 4

(D)

S &S ey LD @mmunq,# Gadldsaflen euenssene, SramliuBD sreaurdsan urmizs.

(a)
(b)
{ic)
(d)

(A)
(B)
(C)
()

Intrapetiolar stipule 1. Smilax

Ochreate stipule 2. Lathyrus
Foliaceous stipule 3. Gardema
Tendrillar stipule 4. Calamus

(a) (b) () (d)

3 4 1 o
3 2 1 4
3 4 2 1
3 1 2 4

srinienidr @encoiig & GFgd 1. euenwaréey
o EfGUC Qefld 2. SEmETE
Eiemar wrdifl Glenaouig & Gladld 3. srmgeflr
Lmms &0 Curdmm @enawig s dedles 4. s

(a) (b) (e) (d)

3 4 1 2

3 2 1 1

3 4 2 1

3 1 2 4

45
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120. Coronary corona is to nerium indicum, staminary corona is to
(A} Acacia mlotica (13} Chseiatora

(C)  Ricinus communis {D’L‘-Hlﬂh"npiﬁ pracera

&Ggmenf sGyramellie Hiub @éngsb Cund, naihad aCGyream
(A) =&3Caflunr apGam_g&an (B) Gadlwnr Suagr

(C) fedaren sowefich (D) sCamepmSenyErdlgr

121.  The kind of style in Mangifera indica, is
(A)  Terminal style {Bll.ateml atvle
(C)  Gynobasic style (D) Branched style

wiigpdlQugr Bang aradld aranitumd Ghdsan®
() Gonblema meosa(i \ (B)  Calpd mdgan®
() enaCarmGuild e s o (B (DY dlamen g @ ass (i)

122. The flower produced by commelina bﬂngi%mieusis
(A) Cleistogamous
(B)  Chasmogamous
{Cv Both cleistogamous and uhaﬁmngamhus

(1))  Herkogamous

awsllenm Qumistadialiey sreursfli o am rssOUBD Lbkad
(A) AaflsvGLrGawen

B) CealGLnGaswan _

(C)  AefelCLrBaway wihmb CealGuonGawen

(D)  QemiCGanBawa
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123.  One of the following is not the source of Esgential Oil
(A) Cym_bapogan flexunsus
(B)  Pinus roxhburghit
{C)  Michelhia champaka

{Dj l;] lyeine max

Eipsaan grauymisatle spamdleblimbm), sraflsan mvelflungh eramGanml Gunliu@eandlaenso
{(A)  FDUGUTEE « < LIaTH e T
(B2) SMLIEETEN (ITdhEuLTgl]
() anwadedhum r_T-Li}'.J{E.IT

(D) Hlenerarilen Guosai

124, ‘Gynaphore' iz seen in one of the following members of Anacardiaccae
(A)  Anacardium (BY Mangipera
(C) Rhus IfD_/Mulalnm'rhuca

=enanmig Gell @Hbusanss snibs Sphaar o nlSlenraalld geny ensan  Gumm smamriu (& Dg.
A} emEnmguD ' (B) Cuogsdl Qugm
(C)  gen (D) GoCarGemmiwr

125. Fruit that develops from hypanthodium inflorescence is
(A) Hesperidium (B) Sorosis
(CV Syconus (D) Achéne

eAmUET(EaTig WD euans wigherluiledmme 2 meumsih safl
{A) QamaiLifig Wi (B) GlerGnslem

{C) Slsreran (D) =&8ar
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126. One of the following is not the source of filling fibres
{A) Bembax ceiba (B) Ceiba Pentandra

{f.?l Sansevieria roxburghiana (DY Calotropis procera

Epssanm_eupgier oo Bolyb Eenpsafian ppann Sida
(A) umbumsen Eur (B) funQuerLnelign

(C)  snemalleifwn grasvutgluinenr (D) &CGanlyrSen yAgmSgm

127, 1CBN of saint Louis code (2000) comprises, principles, rules and recommendations "and
provision for Governance of the code which contains

(A) 6 principles, 72 articles 7 upp&ndincs
(B) 8 principles, 72 articles 7 appendices
{G’ 6 principles, 62 articles 7 appendices

(D) 7 principles 62 grticles 7 appendices

ICBN Qauflen. gmdl Cant (2000} wig, Qenarensaan, difopampad wpps Surflesd, GanbHsemans
enEwImeTeuSMETar cutflapennae

(A) G Qanaemass T2 agofigied 7 oo L jsear

(B) B Qandrenasar 72 sagdgad T Qlenamiyser

(C) 6 Gardranasd 62 ayrgmaer 7 Blenasmimd

(D) 7 Gerdremasdr 62 eguigad 7 Geoariusdr

128. One of the following 1s not true with reference to Respiratory roots
(A)  Roots that grow positively phototropic
(B)  HRoot are provided with special openings called Numetothodes
(C) Help in Respiration
(N Characteristic of xerophytes

fpascn smimscia gap sans Caismesn CurEisns
(A Casdr sflweer Crnédl eusnyio
(B) Gevrgall, Bl GurCariiad sraniufn genersar semiGlupdlempen
(C) weurssdng osaflanmen '
(D) oupam. Blasda amupn graiphisatla el e
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129. One of the following 1s the charactenstic feature of the family Rutaceae

130.

{A) Gland dotted leaves and fruits berry
(B) Gland dotted leaves and fruits Hesperidium
{Vﬂlund dotted leaves and fruits berry or hesperidium

(D)  Normal leaves with fruits berry or Hesperidium

Epbacin_euppd Gy sappy o CLall @Bbusdie o dn e ganmBswin

(A)  spufisses Qeran. Qaasd wpmgn GQuifl amss safl

{B;} apuilamas Garan, @easar bapb Qeadufliguid cwaas safl

(©) apismas GaranL Gmasst nomb Guifl sideg dapdufiyuib amssaeal

(D) spdSwupp Baosir wigin uil Sibag aniufleuih e sl

Just like Wolffia arrhiza, rootless, one of the following 1s rootless
(A)  Utricularia and Rhizophora
(B) Utricularia and Nepenthes
(@ Utricularia and Epipogium

(D} Utricularia and Podostemon

‘v asadwn arengeun’efld Geursdr sremuufaden Sim Cure Spssean. genflea GCamser

arartU i (Reu Slaenay

(A)  wlfl@Gafwr wpob epGanGumgm
(B) il felaflwr whmpun Gmubse

(C) wifgGaflum whmb erbGurgdluib
D) Wl fEGafun whps GurGL medlyipmea
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131. One of the fu]_l_owing is an example for ‘Double citation’.
. (Aj, Binphytmn sensitivem (L.) DC

{B) - Acalypha racemosa wall. ex. haiil

{C) D_idymopanai gleasonit Britton and Wilson

{D}  Streptomyces albo-niger Hesseltine etal

Bipsadm_submdr s ‘G naLUNBsgEs b.sTramb
(A} UGU_II.T:..E}}LII-_I_L-D Glasméleneud (1.} DC

(B}  amasrellur radlCwomswr wall, ex. Baill

(C) e Currrenmics ﬂ@rﬂﬂiqrrﬁuﬂ Britton and Wilson

D) eediglGLrawtleds swGur-anps Hesselﬁne etal

132. A, Cleistugamy is a deviee which ensure self .pnllinhti'un _
E. The flowers: never npen or they remain open for short period, then get closed
- permanently : '

{ﬁj Ads true and R is the (:_Urr{:'t:l: caplanation
(B} A nottrue and R i3 true

{C)  Ais true and R is false

(D) Aisfalse and R is false

. eustlym&seh A 5&1 WEIHSF Gairemsem pardggeiLGs ‘BeflevGnCad’
smanb R 1 Lésdn beraCs @dama sbam ﬂ;ﬁ@ (E;ﬁgm LDen g eAIL(R. IEleT ﬂq;;ggmrr& ppig.
_ &R lenmen
(A} Ac gwemn R sflwrer eflsnésn
(B)  Aes dremswda R sf '
(C) Ao aminn R geum
(D AsagpR sag

133. At maturity, the seive plates become impregnatéd with

fA) Qellulosa . Callose

(C}  Suberin. ' (D) Pectin .

FaaenL & (Es (pdlimih CLing - — e ;ﬂuﬂuﬂu@eﬂ@mﬁﬁ.
(A)  DecogyGeomei (B)  snGanso

Q) suflar (D) Gosgan
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134

136.

Commercial cork are tissues thickened by the deposition of

(A)
(C)

cuticle (B) cellulose
lignin (TP suberin

suerfls s Saadlen Qed) seufla snsmrd(Eas

(A)
(€)

Sl se - (B} QadanGans
Dl Eafar (DY sufles

The formation of distinct annual rings during secondary growth, mainly develops upon
{PJ marked seasonal variation

(B)
(C)
(D)

@yeer_mb asenraflula Qsaflauren Syam(® susnanuid o MRITS STTETLD

(A)
(B)
()
(1)

more or less uniform climate

formation of unequal quantity of xylem and phloem

none of the above

Geumoui L. Lighey Hene

Gy ondlflwren sma Hlene

sndrm enaaid wHmn SuGaTmulb 2 meun G
agan sflubldaa

Lateral meristem includes

(A)
(B)

(Coff Fascicular, inter fascicular cambium and phellogen

Fascicular and inter fascicular cambium
Fascicular and extra-stelar cambium

(D) Inter fascicular cambium and phellogen

LI Sy EaEE S aTanLIg) @l

(A)  apenn whHmb sbmpuBlen & Gabllwub

(B) sdeom whmid 1p dneanmt Cabidunb

(C) spop, spep@els GanGub whmsd SHudGanges
(D) spenpufend Cub@ub opmib <@L Gamme

al
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137. The role of synergid in ovule ia
{AJ To help the entry of pollen tube inte the egge
{B) To prevent entry of more than onec pollen into Lhe .Embi‘yﬂ BAC
(C) Cell division
()  For the help of development of pollen

| @b Namigl s Lk
(&) wshs GLPM e SHaNeT HeL 2 Sayauy
(B) egafibEn sfs narhsh a.@umuuﬂgudt.gmgmnmm;h A IWIRE-Y
© Qswd@fga ' '

D) mﬁl],l_ﬁ;ﬁli:- CUET] B e IE

138. The fusion of male and female: pronuclear of the gamete is known as
{A) Panmixis ' {B) Conjugation
(C)  Apomixis (D/ Amphimixis

e wiib QU e s @mmrgm

(A urénlsedlay : €B)  srengiGsasen
(@ sCumdsadiay (D) SnoSSsadan

139, Transfer of pollen graine from one flower to another flower of same plaﬁt 15

A Geitonogamy (B} Cleistogamy

{C)y Xenogamy (D}  Allogamy

Gy grangden oam wafdimgss whpd G M@&{ﬁ WErhs LBoTHDD Bagpas ————— oo
epssauBfpgs :

(A}  amaCLrGerGsl (B} dealavGLrGad

(C) $CanGsA | (D EarCad

LABO/19 52 _ <«



140.

141.

142

Assertion :  Libriform fibres are true fibres.

Reason :  Libriform fibres develop from non-functional Trachieds by reduction.
(4 Assertion 1s true Reason is false

(Bl Both Assertion and Heason 12 true

() Assertion s false but Reason is true

(D)  Doth Assertion-and Reason is false

asllymdad o eBlNdl LD @epser 2 sreiowinan Elen e

&Y ERTLD Qe g q.uéi@aﬁﬂﬂ@g. sSlfS i @enpada Cerenmdlenmen.
(A)  edlygisd sfl, smyemb saimy

(B) aelumssd sy Hranpio &

(C) adllyppsd geugy sngemb s

(D) edblynssd srpand @ydniib sam

Periderm is the resull of the activity of

(A) procambium {BI cork cambium

()  vascular cambium (D) apical growth
Glawiblanmd GUAGTD o meundma,

(A) GGy EabShwud (B) smrd Gabifwn

{8))

aunav@enit Gabliuib - (D) me auaniadl

Which one is not a correct statement to explain eross pollination?

(A)

v 4

©)

(D)

The pollen grains are transferred from one flower to another flower situated on the
same plant

The pollen grain of one flower are transferred to the stigma of same flower

The pollen grains are transferred from one flower to another flower of another plant of
same species

The pollen grain of male flower are transferred to stigma of female flower

2 wal ha Carsans el flamin siluire s bm e

(A)
(B)

(C)
(D)

@y sneunsdlen GoueiGaup watsasedea Gu wanpgss Gaidms flapAps
@07 waflen warmsbd oibs waflsr gyl s Crmdng
@Gy Apdlengeny Caihg Ealmﬁmy.ﬁnwu wai&d waETEAE Cetaamautla mHLGHeapean
e wafla waghsd Juar ai s d wrHplLHEDE
53 _ LABO/19
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143. Post fertilization product of Ovule's integument is

(A) seed {li/sm:d coat
(C)  fruit (D)  fruit wall
aa|mIsolHEE Gpe @ emn i85 oTmE mE.

(A)  ellens (B)  eleng canp
(©)  &eafl (D) &l Candd

144.  Which one of the following pairs of ¢cells have haploid number of chrnmasnme"
{ﬁ)’ Egg cell and antipodal cells
(B) Nucellus and antipodal cell
(C) Megaspore mother cells and antipodal cells

(D)  Egg nucleus and secondary nucleus

@ e Grmmguiar amlemin’. eremanfld @CrmGionGambamer o_dramen
(A) | el e whmn syemg Cuns

(B) PHyuQsdwed whmb syeng Cum_d

(C) QuardCumt smi Qsd wihmb speng Cum_é

(D) wiere e lam wipin Gesarfl e Cam

145. Ruminate endosperm is seen in the seeds nt'[am_ily
(A) compositae cruciferae

(C)  euphorbiaceae {[Manmnaceun

Eps mHnL elengsaia apgsmo Suprs (mullGarl) eraeGLravEumd srardiu® s
(A) sburslGL (B) &mi.QAuiGy
(C) wlurmiGua (D) seCanGad
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146. LEgg apparatus of angiosperms consists of the following
m)/ one ¢gg cell and two synergids
(B) one synergid and two egg cells
() one central eell, two synergid and three antipodal cells

(1)) one egg cell, two polar nuclei and three antipodal cells

S EsfCwnenGlumnbeaflan =yam (Ege apparatus) srgangdd floves o dramen
(A) S e Glod inbmid G e () &l esn
(B) am Qmﬁgﬁt wpmd SoenH en. Gsasdar
(C) o@eww bsd. Qran® Magl wppd apaimn Syamy Cur.d Qedse

(D) g e Gad, Gran® fima o sm wiHnh (penp e Cum e Cadss

147. What would be the number of chromosomes of the aleurone cells of a plant with
42 chromosomes in its root tip cells?

(A) 21 (B) 42

o 63 D) 84

gm sraysdar Caui mell Qsadid 42 ECrrGunCombadr Bmpand, MFsraridar gigrea
lsdnefia erggman @CImGuntGanbad @)meE0n

(A)y 21 (B) 42
(C) 63 (D) 84

148. Naked DNA virus are known as
(A) Ribovirus {B/Adeua virus
(C) Deoxy virus (D) Herps virus

Gl afieuman g 6reo 6. enEUTED GreLig
(A) A ensuge (B) g Ganm emeuyéh
AC) wsel ey (D) Qaoidim evaige
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149. In cvanohacteria carboxysomes contain
{Al Ribulose 1, 5 diphosphate caroxylase
(B)  Ribulose phasphate carboxylase
(C)  Ribose 1, 2 biphosphate carboxylase

(D) Ribose phosphate carboxylase

suwGanmurdiedlurelics o der ermurdadiGamslgyear aramamanuid
(A)  AuyGeore, 1, S-en unaGul sriunsailGerey

(B) MAyGeanedy urauGul arrursedlGeasn

(C) eapGuren 1, 2 smuunanGu’ ariundelGasi

(D) enpGuney urenGuil armursadGasn

150. Nucleoside means
{ﬂl Nitrogenous base + Pentose sugar
(B) Nitrogenous base + Phosphoric acid
(C)  Nucleotide + Pentose sugar

(D) Nitrogenous base + Pentose sugar + phosphoric acid

BugkaflGuirens[) sremigy

(A)  es Gynglenan Guey + sFEsa] pHRES TS
(B)  enm Corflency Guiaw + Lmrebunils sidleanb
(C) SusaiCunra [+ sissa qpassamad

(D) ap GrrganavGueh + sidsmr ppadsmmpsar + Lmdoumfs sifle
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151.

152.

Bacteria are able to communicate with one another through specific mechanism called
{.&/quurum SeNsing (B) b sensing

(C)  remote sensing (D) mnitrification

urdeflunad Spsan wpepulild gaad uflwrhmbd Ceg Ganddlns
(A} Carpb Geendin (B wuGwr Qaenéli
(C) MACwrl CGsemdli (D) enplMA9&Gasen

Match the following :

(a) Single polar flagellum 1. Peritrichus
(b) Single flagellum at each end 2. Monotrichus
(c) Two or more flagellum at oneend 3.  Amphitrichus
(d) Flagella distributed entire cell 4.  Lophotrichus

A) 2 3 1 4
2 3 4 1
(Cy 2 1 3 4
D) 2 4 1 3
Qunasgs -
(@) wnéefunelen e apaanid 1. Quflleagsen
w (Hib Gm sensllanyp
(b) unseflwundian m aperentgud smslleoy 2. GuonGanmlemgaan
(€ unmEgMuradlen g epeanuie 3. by
- W B e samsullann
(d)  wrseflur apipaugin sansulanp 4. GanGun_ayae

(a) (b) (e) (d)

(A) 2 3 1 4
B) 2 3 4 1
© 2 1 3 4
M) 2 4 1 3
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153. Antibiotics such as streptomycin, terramycin and chlﬁrnmycin are produced from industries
"by using '
(AW Bacteria
By Algac
(Cy Protozoa
{D} Actinomycetes

gdmiyn Qurmerren  v@LLCTTaLAS, Guprewdsn, wimh GEenCrrawdle  ydueme
Qargtbsrenania epugdl Qeulu@buraes Big e-geadpg

(A vrseRwr . .

B)  RETEEE

() yGomi GUnGeraundsn

(D) b Germeond s

154. In the lytic eycle of a bacteriophage, the host DNA ia
(A) replicated ' '
{B) turned off by a protein coat
{C)  turned on by removal of a protein coat
{Dv digested into ita nucleotidea I

wréefGun Cusllan e & mpnhFlula AmbsallsEd 1. arén.o.
A  @aneuEssh Asidpg

(B) yogeenlamrd Qewd Bwhs SlGEng

(C)  yrs s aramu sispob Qurps szl Aupdpg
I FwsaiCuren_faorns Graflips Aeradipg

165. Viral DNA if incorporated inside the host DNA is known as
{A’ Prophage {B) Cyanophage
(C) Mycophage (D) Phycophage

enaurd) in_eTel.o . Lo udf . crén. g lgyar Qedgio Hlaww

Ay  yCmmGusg B) swCanGug
(@) eonGanCug (I} euCsiGugp
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156.

157.

158,

- Late blight of potato is caused by

(A) Fusarium Oxveporum ' {B)/ Phytophora infestans
(Cy Xanthomonas Sps _ (D) Colletotrichum Spe

2 menaraAlprdle) gouiih Gl smsd CHmi o mars STTa@nD
(Ay ygarflub sEefcoCumb (B)  erul L risay EenRNe dren

(Cy  sapCGarCuneanmsh _ (D) Camefll C_meamréan

What substanee provide rigidity to bacterial cell wall?
(Al Peptidoglycon ' (B) Lipoprotein
{C) Techoic acid (I} Periplasmic space
Qs> seubBib@ HMDLILE SO S QPG
(A QuigCurdmanrsener (B SUGUTLGITCwdt

(C) Q&Casmlissfen (N Guderrends Gaupdub

Plazmids are )

(A} small circular self replicating single stranded DNA

(B/ small circular self ltep!icating double stranded DNA
{C) small circular self replicating double stranded RNA

(D)  small circular self replicating double stranded r RNA

Qe arenugy

(A)  Sfw o maEmen. cugeu FrAITS &ﬁmﬁqm PO B0 1Tl 6
(B) Al emamanl cuy e grenmms Aflwssnw s Benp . ere.a
(C)  Afw = peren quge greans Ifwssequ Sm Genp i eren o

(D) Al 2 mearen, aug STENE lﬂnﬁu.li._su_q_u_l Em Genip r. oy eTen.
a9 '
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159.  Which virus was crystalised for the first time?
(A) Tomatomosaic virus
(B) Cauliflower mosaic virus
{C/ Tobaceo mosaic virus

() Influenza virus

Eipad_ ahs aren apsean upsdie) Ligshisamas wihoiuc e g?
(A)  p&arad Qorenss eoauren

(BY arafi@ensur Quonenad enaugen

(C) uesafBow Qurass eeugso

(1) @enyemullenan epauren

160. Rust of linseed is caused by

(A Melampsora Sps (B) Collototrichum Sps

(C)  Pyricularia Sps (D) Fusarum Sp

alan elflens srauysdle Glena Him Guml eHuL &y D
(A) QuanuGsmgn (B) Csrddl CLrgenysd
(C)  eufagGafur (D) yerflub

161. Eefir is produced by the fermentation of
(A)  Camel milk , {B)/'Sheep milk
(C) Cow milk (D) Mare's milk

Qs aremiig @nndlssaden ppaid EEalmbs GunluG&ns
(A) @lisdumd B) =@ umd
(C)  usb umed (D} @dleny L
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162.

163.

The respiratory enzyme are located in
(aadl, Mitochondsial matrix

(B) Permmitochondrial space

(C) Cristae

()  Outer membrane of mitochondria

saurdlggeila rHLED Gerd adld sramiufdmng?
(&) el Coramar e wm &

(B) Guflewn GLreran_flud G Galef

(C)  dldlenCG

(I ool CLma et g flwnelesr Ceuafl seuay

Which enzyme converts glucose into glucose 6-phosphate?
(A) phosphorylase

(B) Glucose-6-phosphatase

{GV Hexokinase

{0}y Glucose synthetase

GensCanamen GersGaray B-urauGulLrs wrhmb Gprs erg?
(A)  uwrevunflGaren
(B) @enaGanen 6-uravuGL e

(C) GansCsmanaGeran

(D) eesataren ApgsGev

61

LABO/MY9
[Turn over



164. Pigment system — 1 1s

{AJ Proo (B) Psswo

(Cy  Pass (D) Pesa

Amfl Aengiy -1 sraug
(A) P (B) Peso
(C) Pesa (D)) Powo

165. Photorespiration is characteristic feature of

[AJ Cs plants (B) Ciplants
(C) CAM plants (D) Caplants

gaflaaunflbae eraniig e ﬁrrmu‘rém;dﬂd:; sremUL B ma?
(A) Ca Saumo (B) G4 SITauLo

(C) CAM greumbd (D) Cagrauib

166. Kranz anatomy is seen in which part of Cs plant?

(A) Stem '{B/ Leaf
(C) Flower : (D) Root

Elyrenen paremeniolin) Cs graugdden erps u@SHutla sremriuGing?
(A se(m (B) Bew
(C) wei (D) Geur
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167.

" 168

169.

Ion up take ia called active absorption because

(A)
(B)

Ions are active

Ions move freely

(C), Energy is expended

iy

Ions move positively

Sjwaflast e flgiaga ewudh mmiy o s pssliufieg Jen?

(A}
(B)
(C)
(D}

Siwiasiaar QFliehlanar
spefad sem_ulen maise
SpHper Geel L Beugmd

oy we| saT CHMOHPUNE HETaGTL

The Movement of mineral ions into plant root cells, as a result of diffusion is cﬁlléd
(A/_ Passive absorption (B) Active absorption

(€

Osmosis (Y Endocytosis

LTeygsd pwna srEisseiar swafladr graur Caut Gehsalia paraug aaanp smpas'iuREng?

@
©

Qewbp Fily . (B} Qawd mTly
Féugp® Lyeud (D) eraEGLrens G nflav

Calcium is a component of
[.A)l’ Middle lamella _ (B) Primary walls

(C)

Secondary walls (D) Chlorophyll

smaslwib argen 2 Qungger?

(A
(C)

enw o HRéE . (B  ppsd Benay seuir
Fyeam_nb Elenar seui (D) EFCamGor.Hd
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170. Ascent of sap is

I{A)l Upward movement of water in plant

(B)

Downward movement of water in plant
(C) Upward and downward movement of water in plant
(D) Osmosis
NG DD eTenLig)
@ praursHa fi God Cprad Gsdagy
(B)  preugsde b SpCrradl Qsmagy
(€ sragsdo it CoaCsradun EpCrnsdub Qsareuz
(D)  sauqp® urah

171. Plasmolysis is due to

{ﬁ)’ Exosmosis

(B) Endozmosis

(C) Imbibition

(D) Osmosis

Semmei Giomenaidlen eramug G

(A) Gevafl =dugy uraua

(B) oerseugy Lyeud
(©)  nenfigs

(D) oeugy( ureud
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172:

173,

174.

The suffix, has added to substrate for naming the enzyme is
(&) —=Ose eV ase

(C) —in (D} —sin

STEITEnQUIDEHET Q]Quuuﬂ@mﬁ@ Glummienas Wamenme GarssUuHin @mmruq-mnﬁ_&;mgﬁ aTg) 7
(A) —Ose (B) —ase

((.?} —1in (D) —zin

Which of the nitrogen's base not present in DNA?

=AY Adenine ' (B)  Guanine

()  Cytosine {DI Uracil

lg. GTENT. & <enDLISla) SremriiLILNE enbL T ST ergl?
(A)  -oigemanen (B) (meurensman

(C) emgL_ (B0 mélenr (D) wyGréla

Keratins are present is
(A) Hair (B) Nail

{C/ Hair and Nail (D) Arteries

Qagmiigendy erdlé sramiuB g ?
(A apy (B) man

(C) (o opgID p&L0 - (D) swefl
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175. Which one of the fallowing is a polysacchanide?

{AJ Celluloge (B) Glucose
()  Fructose (D} Maltose

EGio GerhssiuReraraausafli g Lnalandamr@?
(&) GladgyGamey (B)  mersGana

(C) SLpsGorey (D) ordwma

-

176. Cellulose 1s soluble in
(A) Cold water
(B) Organic =olvents
.[C‘), Ammonieal cupric hydroxide solution

(Ii} Warm water |

GlasbgyGamey erdley senmn?

A @alips fi

(B} sallo smglursnssr

(C) sbGuraflsss Elfis man_srsma [ seqsh

(D) QamyQ@eugiuurer fi

177. Lichens while initiating succession on a bare rock are actually a symbiotic association of

(A)  algae and bacteria (M algae and fungi

(C)  bacteria and fungi (D)  fungi and mosses

cupain urenpaaiiar Cuod ewss LBlusns aembGLrg Femie ATy ghudsHs Aardmiay
(A)  yasm oppb Linsefunsser (B) spdsm wophmih Ly ERamEseT .

() Lirdig fluim whmith || epemesem (D} Lpenanasdlr whmib iraey
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180.

Which tyvpe of material 1s used for manufacturing plastic bottles?

(Aw” HDPE (B) LDPE
(C) PET (D) PVC

WGlgrrmaiotg.h Liwsemum g e Bupdhaent ois euenaiLines umms Liwen B dgou biEng ?

(A)  HDPE (B) LDPE
(C) PET (D) PVC

Carbon monoxide pollution can be effectively by controlling
{1\’ Vehicle emission

(B) Pactory smoke

(C)  Soil contamination

(D) Medical waste

sirfign CuorGenmo fans( neenea sse poaid S (HLIRESLND?
(A)  umsmen warairC el s B RESeusen paih

(B)  Qamfinsrena enaublomen s BufEga s Apaib

(C) fdawsrsme s GuUBHESaLE fpab

(D)  woise afesoa sl HuBEsuss b

¢

Ph:.rmmmediatiuﬁ means
(A)  reclamation of contaminated land by microorganisms
(BY reclamation by chemicals
(C)  reclamation by physical method
reclamation by plants

eouil L@l oy Cusen erenpmed sTaimen ?

(A)  wwsnhm Flesenar margllraeards Earean () S6 6 b Goe
(B) Ceaflud Qummlsdr apab BLG sr@sse

(C) 198lase pompaar ppanib B aRasD

(D) g,rrm:;rri.mm.m vwsu®ad SUG aRsso
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"181. Which of the following gases has important in maintaining atmospheric temperature?
(A) Nitrnﬁen _ . (B) Oxygen
(C)  Argon {lv Carbon dioxide

surarleuaflutla Geutiugems fore evsugidlhés 2 ey aunru eremen?
(A)  emlogen (B) s&ediamen

(C) yraman : (D) amiudhen, s Emsf

182, Highest level of species richness 1= observed in the region?
(A)  temperate grassland {HW;mpiuaL rain forest

(C).  near tropic of cancer (D) sub tropical region

arril g oy bl <zjemalileh #1 leniimarr Gla|flda smemri [’
(A) QuibuCri HymeuCeram (B) wimissd wepstBsdar

(C)  wgom9s = Cadnas @pbs 2 méld (D) ol ygm9sd wgd

183, Population size in an area tends to increase on account of
{A) . Emigration (B) Mortality

(C) Migration , {D,Nul:alit_v

wEsariEsrms @@ ugdulld sifawnnaEhE styswb creren?
(4) GQadfCunsd (B) @woy

©) @uibQuuysd (D) @oiy
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154.

186.

Which.one ig not considered as green house gases?
{Al Oxygen (B) Carbon dioxide

(C) Methane . (D) Chloro fluro carbons

S1DasET CUTTIET 675 LHEDWINEN Guili] e ?
(A) SlmmeRT Uy (B)  aiflwdla qum

(C) WLaCsan ' (D) @CarmGpn G aniusnen

Which plant yields Bio-diesel?

(A) Helianthus anus (B) Gossvium hirstum
(C)  Arachis hvpogea G)l/slqlmhﬂm

g ETaUEHD Elmps UG- wsd aBdscufAng?

(A) abladlurengen <y ena (B)  srflguwbn aflfEle b
(C) =qmdlen evanGuirgluir (D) QgLCyrur arsen

A powerful eve irritant present in smog 1s
(A)  Nitric acid : (B) Ozone

() Carbondioxide (D/ Peroxy acetyl nitrate

uaitiyamadis sanamer UTEass suigw Durmer stenan?
(A) o5 fissfan (B) @Csman
(C) sfulaeamy M) urgéell sl m o ap Gr_
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(187. Beleel the correct match from the following ;

(a2} Initiat-inn of spindle fibres - . 1 E}'gﬂétﬁn‘&
{t) RNA and protein-synthesis | 3. _.GI phase

fey  Action of endonuclease - 3. Pa{:hytelnu.
(d} ]"l;-‘[m-'(:ment of chromatids tuwards:, opposite poles 4. _:"Lnaphase.

@ o © @

(A A 3

2 1
(B/L' 2 3 1
() 4 2 X 1
™ 1 3. 2'_ 4

Sipdsrpaalru Heaearaupiie @ mhg sfluna Qonmsssms Ggiay Gels.

(a) evemga BITEeT Comanmse- ' L ECamadn
{(b) RNA oppb LSy iy er o Huss 2 Glflew
e} aranGLrfluysfallGuidlen Qrad _ . 3. gnemaam_&

(d}  erdli @@E‘ng.mﬁ Grréadl germom gt sar BT g0 4: N R

() (b) {e) (d)

@y 4 3 2 1
B 1 2 | 3 4
© 4 g 3 - 1
1 '3_ 2 1,
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188.

189,

190,

Lamellar model of plasma membrane 1s propesed by
(A),  Damelliand Davson

(3)  David Robertson:

{('.‘J Danielli, Davson and David Robertsen

(D) Hilleir and Hoffman

Senmeuion sausiles comodant wrdlfemu safluem

(A)  Grefidel nbmb G susan

(B)  Coefil grGum ad

(C) Guaiudsy, Cﬁ}.jhm womn G el prEumd sam

(D)  afadlud whmb aor.oworen

The non-sister chromatids twist around and exchange segments with each other in
(A) Leptotene (B) Zygotene
(Cuff Pachytene _ (D) Diplotene

wppEEhn #Garafl sweans oGymorlis sor B G graa® Lilirppn peer Guymin Hlave
(4) QauGLmads . (B) couCamacs

(C) unasieea (D) wglGamesn

The major event that occurs during the anaphase of mitosis which brings about equal
digtribution of chromosomes 15

{AI splitting of the centromeres (B) sphtting of chromatids

(C) - replication of genetic material (D) condensation of chromatin

el Ll o drar enm. Guellan ahs apadwunne Blsgey GGrmbunGanbaasar silsnwrs lflds
2 paydlngl

(A)  Geer  Grmdlwiiger G fseme (B)  @Srmon’ysar il gend
(C) - wiry urmer SpdQwEEsoT@ (D) @Gmom e amii@Esaond
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191. Match the following :

(a)
(b)
(e)

(d)

Moneria
Protista
Fungi

Plantae

() (b}

(A/ 4 3

(B) 3 1
(Cy 2 1
D 1 2
s (15 5 s -
(a) Qunefign
(b) q{:urm}h:u
© e
(d)  preumd

(a) (b)
(A} 4 3
(B 3 4
© 2 1
(D) 1 2

LABO/19

(c)

(c)

(d)

b

3

Tracheophytes
Eukaryotes
Chrysophytes

Prokaryvotes

wrEECunlaul Hadr
L Gaflur_ser
BeopCairreoul Baar

LGrmCaflum g
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192. During which geological perod did the earth become oxygen rich?
{A)/ Orosirian period
(B) Ediacaran period
(C)  Devonian period

(1))  Ordovician period

s ysllwenioliy snegdd il sefioa sae; sflsfsen
(A) gGpréfiwes snanb |

(B)  engwrarysn Smad

(€) wCanaflwen smab

(D)  ACLnefiflueh srab

193. Consider the following with reference to De Vries theory of evolution

1. Jerky

2, Discontinuous

3. Continuous

4. Smooth

Which of the above is / are correct?

{Av 1 and 2 (B) 2and3
(C) 3dandd (D) land3

iy eeufiey uflesrmo Cam_ unBaa) Bunpds Usvaymaiaaban smiHa Hardas
1. D

2. Qar_rflupp

3. Glpmiidlujen w

4, & madlem bl
Cule Qer®Basiu L eeaulld ag of7
(A) 1 oppib2 (B) 2 whpb 3
- (C)  3wigbd 4 (D) 1 whgb 3
< 73 LABO/19
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194, Darwin finches are an excellent example of '
{A) connecting links (H),adaptive radiation

(C)  seasonal migration (I¥}  brood parasitism

Liiefle Cufeaey erenLisl erphenan Hipphs s mremni
(A) Csmagh Deneom (B) sesuewiy sflreiss

(C) s GLObluwira (D) =0l sal i evmrent]

195. Consider the following pairs

I. . Lamarck - Use and disuse theory
1I. Founder effect — Quick change in phenotypes

III. Genetic drift - Large population

Which of the pair given above is / are correct?

4) LandIII '{m, Tsnd II
(© IlandII ©) I only

enmeumid Eleemsamear Hmedia blarens

1. SULOTITE — Lt Wofimh uwsanu g Canlon(
Il Ageyed diloaa) — UpsSCambpsHla s ausy DD
HI.  opuagn spdss —  Quiiu fdpdlen Gsrens
Guh@dlind L Fenaraaflc erg #M7?

(A) T ionmb ITI (B) T iy I1
(C) I wmmb IT (D) 11 wi(mb

LABO/M19 74



196.

187

Which one of the following is incerrect zbout éenetic drife?
(A) Random change in allele frequency in a population
{BI Significant only in large populations

iCy A mechanism for the evolution of new apecies

I} Founder effect is a apsacial case

&Gy GanBaEsiul L e LDU'II.I@ EQ&ac QUMTES) TE SsuDnens:

A Spfier QerapsuSicn afimm SifiCearafiid gduBbd frbo wrdon
By Guflw Aidler Qsrensuiien w’ Hib @O gases

@  ybu dpfarsens L amos@se Bubdr Hiiub

(D}  Ppevent eflenara) r;rshlu@ iy Hlagpey

Consider the following Statements : _ .
Assertion (A):  Polyploidy is induced by colchicine treatment

Reason (R) : The chemieal inhibit the anaphasic movement of chromosomes to the two
poles and mitesis fails to complete .

[A)/{A} and (R) are true and (R) is the correct ¢xplanation of (A)

{(B) {A) and (R) are true and (R) is not the coreect explanation of (A)
() {A) is true but (R) is false

(DY (A) is false but (B) is true

Epsngpd eurddluigcos seus

sy (4) smflflar HAdFenawnrd Lmellindemmiiy W e HeITESmD.
anmjenh (R) : ReuGausl Quamdr e Cuen Beefld pan Qumn GEyGrnGsmbadr @)ar
sigaugans Crnad pergd Hlapaa sHOUSTE s’ méld UGUY apepse o

goumAng

A A) Llétﬁ)ml.b (R) EiraarRGw el Gmguti; (R) eramuigs (A)ell b sflwmen eflendigd

B (A) wimd (R) Gra®@Cw &M Gugub (R) adg (A) efilbhe sfiwiren cilardsneea
(C} (A #A e (R) sam
D) (&) paupg e (R) &4
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198. Match the following :

{a) Alleles
(b) Dominant
(e) Genes
(d) Generation

(a) (b) (o)
af 4 3 2
- 8 4
€ 4 1 2
D) 2 3 4
Eungmdsis
(a) mceldacn
(b) ghELeE
(¢) ghemaen
(d) mena@qpenp

(a) (b) ()
(A) 4 3 2
(B 2 1 4
© 4 1 2
Dy 2 3 4

LABO/19

Inheritance of a living creature
Unit of inheritance
A gene that mask the character of another gene

Two types of genes, dominant and recessive

e = ulflengdlén ugbueny
urbuengullen s
@ gen wpEprm defld LemaU waPULIE

Bver® gL @iaeT, QG Lisy wHHID G HRIE Ly
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199.

200.

Match the following :

(a) Mendel 1. Drosophila melanogaster
(b) Morgan 2. Lathyrus odoratus
(¢) Bateson and Punnet 3. Pyrrhocoris apterus
(d) Henking 4, Pisum sativum
(a) (b) (c) (d)
4 1 2 3
By 4 i} 2 1
(C) 4 2 3
(Dy 4 3 1 2
Curmems
(a) Quano 1. g nGen WSdenr Goatamaraul e i
(b) ooTEen 2. singglren gLGrmiy s
(€) urC s wHmb LT 3. soupCansrdlen w06 Fau
(d) Qapsndin 4. enLsb SNl euih

(a) (b) (c) (d)

(A) 4 1 2 3
(B) 4 3 2 1
() 4 2 1 3
M) 4 3 1 2

The genetic disorder sickle-cell anemia is an example of
{AI Pleiotropy {13} Heterozygous dominance
(C) Epistasis (D) Homozygous dominance

wywé gupidaamounen suemanss — Gaw Brss Canems aapsnal aBagssn.(
(A) BehiCwumgymns (B) QanlwConeansady ohs L
(C) enSsuiinélen (D) CannGuramsas giiGLaE
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BOTANY

(Deg. Std.)

Time Allowed : 3 Hours| [Maximum Marks : 300
Read the [ollowing instructions earefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet containg 200 questions, Prior to attempting to answer, the candidatea’ ape
requested to check whether nll the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks,

You must write yvour Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to yvou, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be talken as per Commisgion's notification.

7. Each question ¢omprises fouwr responses (A), (B), (C) and (D). You are to select ONLY ONE correct
responze and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
cach question. Your tota]l marks will depend on the number of correct responses marked by vou in the
Answer Sheet. '

In the Answer Sheet there are four circles (3) .®). © and @ against each question. To answer the
gquestions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each gquestion. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If vou mark more than one answer for one question, the anawer will be treated as wrong. e.g. I
for any-item. (B) is the correct nnswer, you have to mark as follows ;

@00

£, You should not remove or tear off any sheet from thia Question Booklet: You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the timo of
examinatiornn. Aftor the examination is uded, vou must hand over vour Answer Sheet to tho
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination 1s over

10. Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version 1s final,

12.  Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left hlank.

13. Failure to comply with any of the above instructions will render you hable to such action or penalty as
the Commission may decide at their discretion.




